


1.Bauxite is an ore of

a) Iron
b) Aluminium
c) Mercury
d) Copper



2. Every food chain in the ecosystem begins 
with………. which are the original source of 
food.

(a) Saprophytes
(b) Parasites
(c) Producers
(d) Herbivores



3. Which among the following is a correct 
full form for DDT?

(a) Dichloro diphenyl trichloro ethane
(b) Dichloro diphenyl tetra chloro ethane
(c) Dichloro decaphenyl trichloro ethane
(d) Dichloro diethyl trichloro ethane



4. Mendel conducted his famous breeding 
experiments by working on:-

(a) Drosophila
(b) Escherichiacoli
(c) Pisum Sativum
(d) All of these



5. What is the averages rate of the heart 
beats (per minute) in an adult?

A. 60
B. 72
C. 84
D. 96



6. Which of the following is the volume of 
the urine produced in an adult human 
every 24 hours?

A. 1 litre
B. 1.5 litres
C. 3.0 litres
D. 5.0 litres



7. In the human body, the blood enters the 
aorta of the circulatory system from the:

A. Left atrium
B. Left ventricle
C. Right atrium
D. Right ventricle



8. Which one of the following plant 
nutrients is not supplemented in the soil 
for growing legumes?

A. Nitrogen
B. Potassium
C. Phosphorus
D. None of these



9. Who among the following discovered the 
anti-rabies vaccine?

A. Edward Jenner
B. James Lind
C. Louis Pasteur
D. Robert Koch



10. What is the pH value of pure water?

A. 6.4
B. 6.6
C. 7
D. 7.4



11. Which of the following is called 
philosopher's wool?

A. Zinc bromide
B. Zinc nitrate
C. Zinc oxide
D. Zinc chloride



12. In the process of electrolysis 
oxidation occurs at:

A. Cathode
B. Anode
C. Both of these
D. None of these



13. In the galvanic cell, the process takes 
place is:

A. Transformation of the electrical energy into the 
chemical energy

B. Transformation of the chemical energy into the 
electrical energy

C. Transformation of light energy into the electrical 
energy

D. Transformation of electrical energy into the light 
energy



14. Which of the following is the heaviest 
metal?

A. Silver
B. Gold
C. Mercury
D. Platinum



15. Which of the following is the lightest 
metal?

A. Magnesium
B. Aluminium
C. Platinum
D. Lithium



16. The main ore of the mercury is:

A. Cinnabar
B. Pyrite
C. Bauxite
D. Pyrolusite



17. The element radium was extracted 
from:

A. Lime stone
B. Pinch blend
C. Retile
D. Haematite



18. The floral part that receives pollen -
grains during pollination is

(A) ovary
(B) style
(C) stigma
(D) ovules



19. The back part of the moon is always 
calm and dark which is called:

A. Sea of tranquillity
B. Ocean of storms
C. Both of these
D. None of these



20. The sky appears black from the moon 
because of :

A. Lack of atmosphere
B. Lack of cloud
C. Lack of oxygen and CO2
D. None of these



21. What portion of the moon is visible 
from the earth's surface?

A. 47%
B. 34%
C. 21%
D. 41%



22. Where is Vikram Sarabhai Space 
Centre?

(a) Thiruvananthapuram
(b) Odisha
(c) Kerala
(d) Andhra Pradesh



23. Which device is used to measure the 
depth of seas and oceans?

A. Gravometer
B. Fathometer
C. Gyroscope
D. Dilatometers



24. Name an instrument used to measure 
the sound waves inside the water?

A. Comograph
B. Dictaphone
C. Crescograph
D. Hydrophone



25. Name a device used to measure 
atmospheric humidity?

A. Hygrometer
B. Gravometer
C. Avometer
D. Calorimeter



26. Which device is used to detect and 
measure the purification of the milk?

A. Microphone
B. Heart Lungs Machine
C. Ganong Respiratory
D. Lactometer



27. What do we called when the sound of 
frequency will be below 20 Hz?

A. Audio sounds
B. Infrasonic
C. Ultrasonic
D. Supersonics



28. Why impurities are added to a semi-
conductor?

A. To increase its life
B. To enables it to withstand higher 
voltages
C. To increase its electrical conductivity
D. To increase its electrical resistivity



29. Which of the following statement (s) 
is/are correct about thermal expansion

A. The change in temperature of a body 
causes expansion or contraction of that 
body.
B. Most of the substances expand on heating 
and contract on cooling.
C. Both A & B
D. None of the above



30. Consider the following statement (s) regarding 
Conductors

I. Conductors are materials that permit electrons 
to flow freely from particle to particle.

II. Conductors are materials that permit electrons 
to flow freely from atom to atom.

Which is/are correct statement (s)is/are correct?
A. Only I
B. Only II
C. Both I & II
D. All of the above



31. What are those animals called which 
eat both plants and animals?

A. Omnivores
B. Herbivores
C. Carnivores
D. Decomposers



32. A group of glands which produce 
various hormones is called:

A. Respiratory system
B. Excretion
C. Endocrine system
D. Central nervous system



33. What are heterotrophs, mostly 
bacteria and fungi, when obtain food by 
breaking down substances in dead 
protoplasm are called:

A. Omnivores
B. Herbivores
C. Decomposers
D. Carnivores



34. Which one of the following waves are 
used by the common TV remote control?

A.Radio waves
B.Lasers
C.Infrared waves
D.Ultrasonic waves



35. Which bacteria is responsible for the 
formation of curd?

A.Lactic acid bacteria
B.Lactobacillus Acidophillus
C.Lactobacillus aureus
D.Bacillus radicicola



36. Which one of the following bacteria 
present in the soil produces a peculiar 
smell if it rains on perched soil?

A.Streptomycetes
B.Staphymycetes
C.Diplomycetes
D.Micrococcus



37. In poorly ventilated buildings which 
one of the following inert gases can be 
accumulated?

A.Helium
B.Neon
C.Argon
D.Radon



38. Honey is sweeter than cane sugar or 
corn syrup. Which one of the following 
carbon sugars is responsible for this?

A.Dextrose
B.Levulose
C.Sucrose
D.Fructose



39. Name an enzyme that is derived from 
the stomachs of young ruminant animals 
and also used in dairy industry to 
produce cheese?

A. Trypsin
B. Pepsin
C. Liginase
D. Rennin



40. Name an enzyme that digests fat?

A. Lipase
B. Sucrase
C. Maltase
D. Fructose



41. What is the gravitational force 
exerted on a mass, called? 

a) Stress 
b) Inertia 
c) Weight 
d) Work



42. Freezing point of water is

a) 40° F 
b) 42° F 
c) 34° F
d) 32° F



43. Boiling point of water is 

a) 210°F 
b) 212°F 
c) 214°F 
d) 208°F



44. What are stars primarily made of? 

a) Oxygen and Hydrogen 
b) Hydrogen and Carbon 
c) Hydrogen and Helium 
d) Oxygen and Helium



45. What is the process of slow cooling of 
hot glass called? 

a) Annealing 
b) Humid 
c) Condensation 
d) Decantation



46. When two liquids do not mix with each 
other to form a solution, what is it called? 

a) Solvent 
b) Solute 
c) Immiscible 
d) Decantation



47. Oncology is associated with treatment 
of 

a) Osteoporosis 
b) Diabetes 
c) Cancer 
d) Renal failure



48. The instrument used to examine a 
person’s digestive tract is called 

a) Oscilloscope 
b) Micros cope 
c) Endoscope 
d) Radiograph



49. Atmosphere of Venus mostly contains 
which of the following gases? 

a) Nitrogen 
b) Hydrogen 
c) Oxygen 
d) Carbon dioxide



50. Leprosy is also known as 

a) Angina
b) hansen’s disease 
c) Gaucher disease 
d) Hodgkin disease



51. The gland in the human body which 
secretes both enzymes and hormones is: 

a) Liver 
b) Pancreas 
c) Salivary gland 
d) Pituitary



52. Retinol is mainly related to ………

a) Vitamin A 
b) Vitamin B 
c) Vitamin C 
d) Vitamin D



53. …….. is used as a stabilizer in ice cream. 

a) Gelatin 
b) Sugar 
c) Milk 
d) Strawberry



54. The disease cirrhosis affects which 
organ in the body? 

a) Brain 
b) Liver 
c) Heart 
d) Kidney



55. What plant has the scientific name 
Solanum Tuberosum? 

a) Potato 
b) Tomato 
c) Pumpkin 
d) Onion



56. ‘Gallon’ is commonly used 

a) To refer to speed. 
b) To refer to a container. 
c) As a measure of volume 
d) To express containers in terms of barrel



57. what will happen to a person’s weight 
when he is in a moving elevator? 

a) Increase 
b) Decrease 
c) Weight will not change 
d) May increase or decrease



58. Where in the human body can you find the 
Islets of Langerhans? 

a) Small intestine 
b) Pancreas 
c) Stomach 
d) Heart



59. Mirages are formed primarily due to 
__________ of light.

a) Reflection 
b) Diffusion 
c) Refraction
d) Radiation



60. Transportation of water and minerals 
in a plant is conducted by ?

(A) Stem 
(B) Roots 
(C) Xylem 
(D) Petiole



61. Who coined the word enzyme?

A. Wilhelm Kuhne
B. Alfred Russel
C. Robert Koch
D. Rosalind Franklin



62. Name an enzyme which is not 
proteinaceous in nature?

A. Cellulases
B. Xylanases
C. Ribozyme
D. Peptidiase



63. 1 Byte is equal to:

a) 2 bits                        b) 8 bits
c) 16 bits                      d) 32 bits



64. The unit used internationally 
for measuring the volume of crude 
oil is:

a)  Litre b)  Gallon
c)  Barrel             d)  US gallon



65. A barrel of crude oil is equal to:

1)  42 US gallon
2) 159 Litre
3)  100 Litre
4)  25 US gallon

a) Only 1                                               b) Only 2
c) 1 and 2 Only                                    d) Only 3 and 4



66. 18 Carat gold is:

a) 50% gold and 50% impurity

b)   75% gold and 25% impurity

c)   100% gold

d)   60% and 40% impurity



67. In which of the following industries 
is mica used as a raw material?

a) Electrical

b) Iron and steel

c) Toys                              d) Glass and 
pottery



68. Which of the following vitamins is 
called a water-soluble vitamin?

(a) vitamin A
(b) vitamin D
(c) vitamin C
(d) vitamin K



69. Excessive intake of calcium in our 
diet results in ___________.

(a) Stroke
(b) Diarrhoea
(c) Constipation
(d) Kidney stones



70. Night blindness is caused due to the 
deficiencies of_______.

(a) vitamin A
(b) vitamin B
(c) vitamin C
(d) vitamin E
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